. Find the interval on which the function f(z) graphed below is decreasing.
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. The function f(z) is decreasing on (0.5, c0).

. The function f(x) is decreasing on (—oo, —3) U (1, 00)
. The function f(x) is decreasing on (—oo, 1) U (—3, c0)
. The function f(x) is decreasing on (—oo, —0.5).

. The function f(z) is decreasing on (1,—3)

. The function f(z) is decreasing on (—00,0.5).

. The function f(x) is decreasing on (—3,1)

. The function f(z) is decreasing on (—0.5,00).



. Use the graph of the linear function to find interval(s) where the function negative.

Y
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. The function f(z) is negative on (—3, c0)

. The function f(x) is negative on R

. The function f(x) is negative on (—oo, —3)

. The function f(x) is negative on ()

. The function f(z) is negative on (—o0,1.5)

. The function f(z) is negative on (1.5, c0)

. The function f(z) is negative on (—o0, 1.5) U (=3, 00)

. The function f(z) is negative on (—o0, —3) U (1.5, 00)



. Find the interval on which the function f(r) = —2? — 2z + 3 is positive.
. The function f(z) is positive on (-3, 3).

. The function f(z) is positive on (—oo, —3) U (—1, c0).

. The function f(z) is positive on (—o0,3) U (-1, c0).

. The function f(x) is positive on (3, —3).

. The function f(z) is positive on (—3,1).

. The function f(z) is positive on (—1,1).

. The function f(z) is positive on (—oo, —3) U (1, 00).

. The function f(z) is positive on (—oo,3) U (1, 00).

. Use the graph of the linear function to find interval(s) where the function f(x) = 22 — 1 is negative.
. The function f(z) is negative on (—o00,0.5)

. The function f(z) is negative on R

. The function f(z) is negative on (0.5, 00)

. The function f(x) is negative on (—oo, —1) U (0.5, 00)

. The function f(z) is negative on (—00,0.5) U (=1, 00)

. The function f(z) is negative on (—1,00)

. The function f(z) is negative on (—oo, —1)

. The function f(z) is negative on )



. Find interval(s) on which the function f(x) = 0.52% + 3x + 1 is decreasing.
. The function f(z) is decreasing on (3, 00).

. The function f(z) is decreasing on (—5, —1)

. The function f(z) is decreasing on (—1, —5)

. The function f(z) is decreasing on (—o0, 3).

. The function f(z) is decreasing on (—oo, —1) U (=5, 00)

. The function f(z) is decreasing on (—oo, —5) U (=1, 00)

. The function f(x) is decreasing on (—oo, —3).

. The function f(z) is decreasing on (—3,00).

. Find the interval(s) where the absolute value function f(x) = —2|z + 1] 4+ 1 is positive.
. The function f(z) is positive on (—oo, —0.5) U (—1.5,00)

. The function f(z) is positive on (—0.5,0) U (—1.5,0)

. The function f(z) is positive on (—0.5,—1.5)

. The function f(zx) is positive on (0, —0.5) U (0, —1.5)

. The function f(z) is positive on R.

. The function f(z) is positive on (—1.5,—0.5)

. The function f(x) is positive on (0, —1).

. The function f(z) is positive on (—oo, —1.5) U (—0.5, 00)



. Find the interval(s) where the absolute value function f(x) = 2|z — 2| — 2 is negative.
. The function f(z) is negative on (3, 1)

. The function f(z) is negative on (0,3) U (0, 1)

. The function f(z) is negative on (0, 2).

. The function f(z) is negative on (3,0) U (1,0)

. The function f(x) is negative on (1, 3)

. The function f(z) is negative on R.

. The function f(x) is negative on (—o0,1) U (3, 00)

. The function f(z) is negative on (—o0,3) U (1, 00)

. Use the graph of the absolute value function to find intervals where the function positive.
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. The function f(z) is positive on (2.5,0) U (1.5,0)

. The function f(z) is positive on (1.5,2.5)

. The function f(z) is positive on (—o0, 1.5) U (2.5, 00)
. The function f(z) is positive on (0,2.5) U (0,1.5)

. The function f(z) is positive on R.

. The function f(z) is positive on (2.5, 1.5)

. The function f(x) is positive on (—o00,2.5) U (1.5, 00)

. The function f(z) is positive on (0, 3).



